






Name  ____________________________



Period
  ____     Date ________________

Use simplest radical form where applicable.  (No decimals!)
1.
Classify each conic section as a circle, ellipse, parabola, or hyperbola.  You do not need to do any work for these—just look and answer!  (No explanations necessary)
	
	a.
	x 2 + 5y 2 + 3y = 25
	b.
	4x 2 + 8x + 4y 2 = 0

	
	c.
	y 2 – x 2 – 1 = 0
	d.
	4x 2 + 9x + 10y = -17


2.
Convert to standard form, find the requested information, and graph everything you find.
	
	a.
	x 2 + y 2 – 12x + 8y = -40
	 

	
	
	standard form:

center:                     

radius:

(simplest radical form)

 


	

	
	b.
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(Already in standard form, hooray!)


	 

	
	
	center:                     

vertices:

co‑vertices:

foci:
	

	
	c.
	49y 2 – 25x 2 – 98y = 1176
	 

	
	
	standard form:

center:                     

vertices:

foci:

asymptotes’ equations:


	

	
	d.
	x 2 – 6x + 12y = 39
	 

	
	
	standard form:

vertex:

focus:

directrix:

axis of symmetry:
	


3.
Write the equation (in standard form) of each conic section described.

	
	a.
	A circle’s center is located at (9, 3), and the point (6, -1) is on the circle.

	
	b.
	An ellipse has vertices at (8, 1) and (2, 1), and foci at (7, 1) and (3, 1).

	
	c.
	A hyperbola has vertices at (-1, 4) and (3, 4), and foci at (-2, 4) and (4, 4).

	
	d.
	A parabola’s vertex is located at (-2, -6) and its directrix is x = 2.


	1.
	a.

ellipse

b.

circle

c.

hyperbola
d.

parabola

 
	


	
	
	
	
	
	
	

	2.


	a.
	standard form:
(x – 6) 2 + (y + 4) 2 = 12

center:
(6, -4)

radius:
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	b.
	center:
(0, 3)

vertices:
(0, 12) and (0, -6)

co‑vertices:
((4, 3)

foci:
(0, 3 ( 
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	c.
	standard form:
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center:
(0, 1)

vertices:
(0, 6) and (0, -4)

foci:
(0, 1 ( 
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asymptotes’ equations:
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OR… 
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You should have graphed the center
and four points (top, bottom, left, right)
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You should have graphed the center
and four points (top, bottom, left, right)
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You should have graphed the center,
2 vertices, the “box,” & the asymptotes.

	
	
	
	
	3.

a.

(x – 9) 2 + (y – 3) 2 = 25

b.
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c.
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d.

(y + 6) 2 = -16(x + 2)

or 16(x + 2) = (y + 6) 2
 

	
	d.
	standard form:
(x – 3) 2 = -12(y – 4)
OR… -12(y – 4) = (x – 3) 2
vertex:
(3, 4)

focus:
(3, 1)

directrix:
y = 7

axis of symmetry:
x = 3
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You should have graphed the vertex,
focus, directrix, and axis of symmetry.
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